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Time : 4 Hrs. Sem. IV - C/C (R)
QS.C-1
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-Ad a+l 20 ¥l @ IR <, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
4u—B & 9 uia y¥l @ SR <, UAD U BT 44 4 3B 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS U &1 A9 8 3(d 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9] I BT SR UP &l oiE (AR HH H)

BIFT 1Ry, 3=gem 4 wiid -2l off 9ad 2 |

The figure in right hand margin indicate marks.
< ued & 3id Yuiie & qad @ |

P.T.O



TaquinN (p)
()
W (q)
w (e)
ur
painseaw SI JI0M Id)se[d Jo Aiuenb oy (1)

0001 (»)
009 (k)
00S (k)
oo (Ig)
‘2 PR IRk b P AR
ARl @ Rld Blkk) 25 Mgkl ®d ()

0001 (P)
009 (@)
00S (q)

ok 0¢ (&)
1 ST YIoM
AJuoSew JOLIq JO d139W J1qNd dUO I0J
| 3 Lajnb paxnbau syo1LIq Je[npow JO IoquIinu oy I, 0
B AMDPYR) b PR ™3 bh PR Rblr
_ i : BpR| Abkb & hodp] PbRhe bRyylbh
[re3ap ut Joox paddiy pue JooI 9[qen) QLIS 07=0ZXT - suondo

3uIMO[[0] oY) WO} JOMSUE J[qBIINS JSOW A} SO0  *|

vd4dnoaon
wrst I€ YIOYN YIOYN (4 (41127

(lbkE)IO



15402 30 N4014

fra fag w17 faz @) wgm™@ar € w99 & 9=
12 iy Arer ¥e yawar (1:4) 9=2m Bd @
Fold © SUWR A9 ddic (Tadl) &rf @)

AT BN |
4.00 6.00
0.10
M4
-” e B ol 10X ] = 600 -H-
le Room -1 Room w JL
0.1 8
~3{.30 —
e —Hf— ___7ﬁ.i77i,4 il
oa] o | | o |
‘ —
Plan (a)

\?\'O;r?crlsm ? \?viﬂa,'%oo)ff‘go 7.5 cm Lime Concrete
Shelves:  §=1.00x1.50

T—IS cm R.C.C. Slab

=030 420

. 2.5 cm Cement Conc.
(AAS — 1:2:4
25emDPRC.1:2:4_ . 10 cm Gement
Cement conc. ,L’Cnnc. 1:5:10
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0.60 0.10 =
1.00 070 _Jo10
J ! 0.20
|ﬁ' 2| 1030

fe——110——+]
- Lime Concrete
Section of a wall 1:7:20

(All dimensions in m)
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(i)

(iif)

(i)

(iv)

3 15402

R S D ATl fead @1 Sl
2 7?

(1) #rex

(@) T +Hex

(|) =9 ez

(v) T

Hold fasts may be estimated by :
(a) m

(b) m?

(c) m*®

(d) Weight or number

BlosBhIel & UTddl fhar §1 Aahdl
s -

(@1 Hrex o

@) aif HArex o

(|) u Hex 4

(]) wR a1 d=m |

In which work thickness is specified ?
(a) Painting

(b) Plastering

(c) Both 'a' and 'b'

(d) None of these
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_ N _ (€) 0.02 g1 #I.
== %ﬁ% () 0.03 1 .
400 800 () 0.04 g7 #.
'ﬂ o b:m . — W (vii)  The normal lift allowed for earthwork in
le T, el Room WJL excavation of foundation is :
or{ |3 (a) 0.5 m
ol ) _ (b) 1.0 m
-LI - '—':._"_'_"'%77*"'4" - (¢)1.5m
,0_‘30 o | | o | ]| (d)2.0m
Doors : D=1.20x2.10 o Ay X
il e T iy g B garg 7 i 3 @ fag
T3 Losencc s AT forde W= giar @ -
doad (31) 0.5 #i.
[P (@) 1.0 .
S O s e (&) 1.5 .
o S || L[ e (@) 2.0 .
(viii)  The quantity of wood work for chaukhats
020\ : . .
o0 SendFing of doors is calculated in :
b @m
:Zz (b) m’
e | U oo (c) m’
(Al dimensions n m) (d) All of the above
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Plan (a)

Doors : D=1.20x2.10
Windows : W= 1.00x 1.50
Shelves:  S=1.00x1.50

25emDPRC.1:2:4_
Cement conc.

7.5 cm Lime Concrete

T—15 cm R.C.C. Slab

=030 420

2.5 cm Cement Conc.
—1:2:4

10 cm Gement
| ___,CCnncJ:S:!D

Pl Al ol

0.20

10.10
_fo10

0.10 Sand Filling

10em

0.20

2l Jo30

[e—1.10—|

Section of a wall

Lime Concrete
1:7:20
(All dimensions in m)
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x)

(xi)
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7 15402

fodd 'L w18, 'd e TEkrg a&qr 'S 1
qTed STel dTcdl des§e &I Udb 3M-d
qdg &I g% sidl @ -

(®1) LxdxS

(@) dVs?+1

(|) LdVs?+1

(@) g 4 13 T

Which of the following sloping roof slopes
in one direction only ?

(a) Lean to

(b) Couple

(c) Couple close

(d) None of these

frafafaa 4 9 f$9 eI ®a 31 ard
®del Uh d¥® aldl & ?

(a1) ferig

(@) dua

SIEARESISH

(@) 3 9 ®Ig &

If valuable properties are found during
excavation, it becomes the property of :
(a) Labourers

(b) Contractor

(c) Owner of site

(d) Government

P.T.O
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Calculate the quantity of earth work for a 300 m
long road in an uniform ground. The height of
banks at two ends being 1.20 m and 1.60 m. The
formation width = 10 m and side slope = 2:1
(Horizontal : Vertical). Assume that there is no

transverse slope. Use Prismoidal formula.

Udh a1 o 9 300 Hl ol dsw @
fog gt st &) AT Y | ] BIRE W
dB1 Y Sarg 1.20 HY. AT 1.60 . 2|
forrfor G@te1s = 10 Wio qerm

gred gl = 2:1 (8faw - Squ). A o
f& ®I3 grad era = 2| Rower g3
BT UIT BN |

N4014

(xiv)

(xv)

(xv)

(xvi)

9 15402

Haq UTda ®I d-sra @r fafer o
AP SId[ & ¢ D I@T DY
oHETg Her 41 ol 8, st 79 ghar
B

(31) AR B P dleTg

@) arR @ diaE dlsTS

(@) darR @ el @leTE

(?) Swfaa wh

Which of the following estimate is least
accurate ?

(a) Plinth area estimate

(b) Detailed estimate

(c) Both'a' and 'b'

(d) None of these

fr=ifafaa & 9 <19 UEda o9 gg
BT 8 ?

(@) ot a3 e

@) faega arse

(&) '3 3R ¥ <=l

(@ 3 4 o1 T

One cubic metre of mild steel weighs about :
(a) 1000 kg
(b) 3000 kg
(c) 7850 kg
(d) 9000 kg

P.T.O
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OR(3721dT)
Draw a neat sketch of a queen post truss and show
its components.

TP FdI9 UIRe ddl & W a7 ©id qe
$H® 3dudl &I T |

9. With the help of figure given below, calculate the
quantityof 1st class brickwork in superstructure. g

4.00 - 6.00
, i
0.10
-

i e RN s - i

1
—
21
é"
E|
B
(IJ|[TL
D
g
i
2
8
=
=

—Haok—

5] o | % E

Plan (a)
Doors : D=120x%2.10 . ;
Windows: W-=1.00 x 1.50 7.5 om Lime Concrste

Shelves: 8=1.00x 1.50

O

)
0.10]

L15 cmR.C.C. Slab
1080 420

2.5 cm Cement Conc.
1:2:4
25emDPC.1:2:4. 1. 10 cm Cement

Cement conc. ‘\ . rConrc.1:5:}0
AN P

Ame

020 \ !
0.10 Sar;g Filling
—fo10 ol

_loo

0.20

2| 1030

d i Lime Concrete
Section of a wall 1:7:20
()

(All dimensions in m)

N4014

11 15402

(xvii) TP SFCAY TG .o gar 2 |

(xix)

(xix)

(xx)

(31) 100 af #.
(8) 500 a3 .
(&) 1000 a7 .
(%) 10000 o .

Thickness of one brick (Modular brick) wall
is taken as :

(a) 10 cm

(b) 20 cm

(c) 30 cm

(d) 40 cm

U$ 3¢ (AlgeR $¢) AT daR &)
Arerg feas off ot @ ?

(31) 10 ..

() 20 |

(d) 30 &

(%) 40 |

The number of corrugations per sheet in
case of A.C. sheet is :

(a)5

(b) 6

(c)7

(d) 10

P.T.O
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8.  With the help of figure given below, calculate
the quantity of 1st class brick work in

foundation and plinth. 8
W W
400 6.00
0.0
-” S e e =i 1 R D it i -H-
le Room 1 -_"" Room w Jl
o1 8
~3{.30 —
A el e T
x| D [ | o |
L! .
Plan (a)

Doors : D=1.20x2.10
Windows : W= 1.00x 1.50
Shelves:  S=1.00x1.50

7.5 cm Lime Concrete

T—15 cm R.C.C. Slab

=030 420

e 2.5 cm Cement Conc.
(AAA —1:2:4
25cmDPC.1:2:4 - 10 cm Gement
Cement conc.
0.60 |- -
GL —
0.20 \ :
0.50+] 0.10 Sand Filling
e 0 10em
0.60 __lo10
1.00 070 o0
J — 080 0.20
|_b:; bl Joso

fe——110——+]
- Lime Concrete
Section of a wall 1:7:20

(All dimensions in m)

N4014 13 15402

3.

Describe the utility of king post truss in inclined
roof. 4

Ad Bd ¥ ST give A @1 SyAifiar
BT qof BN |

OR(3721d)

Explain the following terms :

(a) Contingencies

(b) Flooring

fr=Tifea sl &) ar=n e -
(@1 =i

@) wenifRar

Describe terms 'Lead' and 'lift' in earth work.

fird ot ¥ ofie vd forwe uql &1 9vfa &N |
OR(3721dT)

Describe cubic content estimate.

RH << UdHd & quid B |

P.T.O
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OR(3721dT)

With the help of figure given below, calculate the quantity

of lime concrete (1:7:20) in foundation and 2.5 cm
thick D.P.C. of cement concrete (1:2:4)

w
4.00

le Room -1 w Jl
014 8
~3{.30 — I
I e
oa] o | | o |
‘ -
Plan (a)

Doors : D=1.20x2.10
Windows : W= 1.00x 1.50
Shelves:  S=1.00x1.50

7.5 cm Lime Concrete

T—15 cm R.C.C. Slab

=030 420

e 2.5 cm Cement Conc.
(AAA —1:2:4
25cmDPC.1:2:4 - 10 cm Gement
Cement conc.
0.60 |- -
GL —
0.20 \ :
0.50+] 0.10 Sand Filling
e 0 10em
0.60 __lo10
1.00 070 o0
J — 080 0.20
|_b:; bl Joso

fe——110——+]
- Lime Concrete
Section of a wall 1:7:20

(All dimensions in m)

N4014 15 15402

Udh Hd9 &I YRS Uaed daR & Saaer

3l &3 = 500 avf A1

(i) Tt &= g8 =26000 ufer a7t .

(i) aRgedd & forg rfaRead = weq arra &1
2%

(iii) 3= Aar & ferg srfaRad = waw arra
Dl 20%

(iv) s Rw® e vad wddeur @d = wa+

oI Td DT 10%

OR(3721dT)

What are the factors which affects the estimate of

a structure ?

fodl GX=aT © Ui @l yHIfad H)A dred
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